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QUESTION 1

Which two are valid uses for binary logs on a MySQL instance? (Choose two.) 

A. recording the order in which queries are issued 

B. audit of all queries 

C. point-in-time recovery 

D. replication 

E. logging the duration and locks for all queries 

Correct Answer: AC 

 

QUESTION 2

Examine this list of MySQL data directory binary logs: 

binlog.000001 binlog.000002 

..... 

binlog.000289 

binlog.000300 

binlog.000301 

binlog.index 

Now examine this command, which executes successfully: 

mysqldump --delete-master-logs --all-databases > /backup/db_backup.sql 

Which two are true? (Choose two.) 

A. All databases are backed up to the output file. 

B. All non-active binary logs are removed from the master. 

C. All binary logs are deleted from the master. 

D. All binary logs are backed up and then deleted. 

E. All databases, excluding master metadata, are backed up to the output file. 

F. All details regarding deleted logs and master metadata are captured in the output file. 

Correct Answer: CE 
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QUESTION 3

Four nodes are configured to use circular replication. Examine these configuration parameters for each node: 

Which statement is true? 

A. Each slave thread is responsible for updating a specific database. 

B. Cross-database constraints can cause database inconsistency. 

C. Increasing slave_parallel_workers will improve high availability. 

D. Setting slave_preserve_commit_order to on will improve data consistency. 

E. Setting slave_parallel_type=DATABASE won\\'t work for circular replication; it should be set to LOGICAL_CLOCK. 

F. Setting transaction_allow_batching to on will improve data consistency. 

Correct Answer: D 

 

QUESTION 4

Which two statements are true about the mysql_config_editor program? (Choose two.) 

A. It manages the configuration of the MySQL Firewall feature. 

B. It manages the configuration of client programs. 

C. It can move datadir to a new location. 

D. It manages the configuration of user privileges for accessing the server. 

E. It will use [client] options by default unless you provide --login-path. 

F. It can be used to create and edit SSL certificates and log locations. 

G. It provides an interface to change my.cnf files. 

Correct Answer: BE 

Reference: https://dev.mysql.com/doc/refman/8.0/en/mysql-config-editor.html 
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QUESTION 5

Examine these statements, which execute successfully: 

CREATE ROLE r_world_rd; 

GRANT SELECT ON world.* TO r_world_rd; 

CREATE USER john IDENTIFIED BY `P@ssw0rd\\'; 

GRANT r_world_rd TO john; 

Examine these statements issued by user John: 

What is the reason for the error? 

A. The statement was blocked by MySQL Firewall. 

B. John has not activated the role. 

C. John needs to reconnect to the database. 

D. The DBA needs to execute FLUSH PRIVILEGES. 

Correct Answer: B 
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